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Major Paper XIV — COST ACCOUNTING
Time : 3 hours
    



        Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.
1. Define Cost accounting.

2. Write the meaning of cost sheet.

3. Calculate the Prime Cost from the following:

Materials purchased 
:       `4,00,000
Wages


         :       `2,00,000

Materials – opening stock 
: `80,000
Materials – Closing stock    :       ` 1,20,000 

Direct wages


: `40,000 
4. With the following details you are required to calculate the prime cost.

Direct materials
: `20,000

Direct wages

: `10,000

Factory overheads
: 10% on wages
         Office overheads
: `  3,100

Selling expenses
: `3,500

          Sales


: `40,000

5. Define material control.

6. Find out the economic order quantity from the following:

Annual usage : 6,000 units

Cost of material per unit : `20

Cost of placing and receiving one order : Rs.60  Annual carrying cost of one unit : 10% of inventory value.

7. Two components were used as follows

Minimum Usage : 150 units per week each; Normal Usage : 300 units per week each Maximum Usage : 450 units per week each

Ordering quantities
:
X – 1,800 units & Y – 3,000 units

Delivery period
:
X – 4 to 6 weeks & Y – 2 to 4 weeks

Maximum reorder period for emergency purchases : X – 2 weeks and Y – 2 weeks

Calculate the maximum stock level for each component.

8. Details of one component used in the production process is given below

Reordering quantity – 1200 units
Reordering period – 2 to 4 weeks

Normal usage
 - 500 units 

Minimum Usage – 150 units 

Maximum Usage – 450 units

Calculate the average stock level of the component.

9. Define the term labour turnover.

10. In a factory workers are paid at Rs.25 per hour. During the month of  June 2015, there were 25 working days of 8 hours each. There is also a piece work plan for Rs.5 to be paid per piece produced. During the month a worker, Mohan produced on average 96 pieces per working day. Ascertain the earnings of Mohan if he was paid under

(a) Time wages 
(b)
Piece wages

11. What is meant by the term overhead?

12. Apportion the cost of power and the amount of depreciation to the three department A, B and C

Particulars


Dept.A
Dept. B
Dept. C

Machinery Value Rs.
20,000
40,000
50,000

Kilo watt


 620

380

1000

Cost of power : Rs.20,000


Depreciation
: Rs.5,500

SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions.

13. State the difficulties faced in installing a costing system.

14. Explain the advantages of a cost sheet.

15. During the month August 2011, Maran ltd. manufactured 50,000 units of a product. The following were the expenses:

Raw Materials:

Opening stock 

: `1,00,000

Closing Stock

: `2,00,000

Materials Purchased
: `16,00,000

Direct Wages

: `7,50,000

Direct expenses

: `2,50,000

Factory expenses
: `3,75,000

Office expenses

: `6,25,000

Selling expenses
:        : `2,50,000

Prepare a cost sheet.

16. From the following particulars write up the stores ledger using FIFO method for the month of January 2015. The Opening stock on 01.01.2015 was  1,000 units at `26 per unit

	Purchases
	Issues

	Date
	Units
	Rate per unit(`)
	Date
	Units

	05.01.2015

10.01.2015

22.01.2015

31.01.2015
	4000

500
500

700
	30

29

32

33
	07.01.2015

15.01.2015

20.01.2015

28.01.2015
	800

1,200

1,500

2,000


17. Ascertain the value of the closing stock using HIFO method from the following  details relating to the material D 

2012 May 1 Opening stock - 2,000 units at `5 per unit

Purchases:





Issues:

May 3  - 500 units at `6 per unit

May 10 – 800 units

        5  - 700 units at `6.5 per unit
        18 – 400 units

      11 – 300 units at `8 per unit

18. Calculate the earnings of 2 workers A and B under Merrick’s Multiple piece rate system given the following:

Standard production per day – 200 units; Normal piece rate : `2 per unit

Production of workers on a particular day : A – 220 units & B – 185 units.
19. Calculate machine hour rate to cover overhead expenses indicated below:

Per Hour (`)




Per Year ( Rs.)


Electric power

0.75


Rent



270


Steam


0.30


Repairs


550


Water


0.20


Running hours


2000

Original cost of the machine was `25,000 and the depreciation is charged at 10% .

SECTION C — (2 × 15 = 30 marks)

Answer any TWO questions.

20. From the following particulars, prepare a statement showing the components of the total sales and the profit for the year ended 31st December 2013.

	Particulars
	        `

	Opening stock of finished goods

Opening stock of raw materials

Opening work in progress

Purchase of raw materials

Carriage Inwards

Factory, Rent and rates

Other production expenses

Closing stock of finished goods

Wages

Works manager’s salary

Factory employee’s salary

Power expenses

General expenses

Sales for the year

Closing stock of raw materials

Closing work in progress
	18,000

1,20,000

45,000

14,25,000

37,500

21,750

1,29,000

45,000

5,25,000

90,000

1,80,000

28,500

97,500

25,80,000

1,50,000

30,000


21. From the following particulars prepare stores ledger by adopting simple average method of pricing of material issues.

	Date
	Receipts
	Issues

	2011 June 1

                10

                12

                15

                16

                18

                20

                22

                25

                27

                31
	3,000 units at `10 per unit

2,000 units at `12 per unit

4,000 units at `11 per unit

2,000 units at `14 per unit

3,000 units at `15 per unit

1,000 units at `16 per unit


	2,500 units

1,500 units

3,000 units

2,000 units

1,000 units


22.  Calculate the earnings of two employees Manohar and Narain from the following particulars for a month and allocate the earnings to the Jobs I,II and III.

	Particulars
	Manohar
	Narain

	Basic wages

DA

Provident Fund ( on basic wages )

Employees’ State Insurance (on basic wages )

Overtime

Idle time and leave
	`20,000

75%

8%

5%

15 hours

----


	`30,000

75%

8%

5%

-----

18 hours


 The normal working hours for a month are 200. Overtime is paid at double the normal wages and dearness allowance. Employer’s contributions to state insurance and provident fund are at equal rate with the employee contribution. The month contains 25 working days and one paid holiday.

 The two workers were employed on the Job I, II and III in the following proportions

	
	Job I
	Job II
	Job III

	Manohar

Narain
	50

60
	120

120
	30

20



Overtime was done on Job I.

23. Pallavan ltd. producing threads have four departments A, B, C and D where D is a service department. The expenses incurred for the month July 2011 are as follows

Particulars


`



Particulars


`Rent



30,000

         Repairs to plant
         18,000

Depreciation 


13,500


Lighting expenses
  3,000

Supervisory expenses
         45,000


Power


27,000

Employer’s liability





Fire Insurance

for insurance

  
  4,500


( on stock )

15,000

The following information is available in respect of the four departments

	Particulars
	DEPARTMENTS

	
	A
	B
	C
	D

	Area ( sq. feet )

Number of lights

Number of employees

Total wages (` )

Value of plant (` )

Value of stock (`)
	1,500

75

200

60,000

2,40,000

1,50,000
	1,100

11

150

40,000

1,80,000

90,000
	900

9

100

30,000

1,20,000

60,000
	500

5

50

20,000

60,000

----


The service department D renders service to A, B and C in the ratio 2:2:1.

Apportion the costs to the various departments on the most equipment method and also show the distribution of the service department cost to the other production departments.
—————————
[P.T.O.]
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